Subject: Re: Psi analysis as a cross check from donghee kang
Posted by Lars Schmitt on Thu, 18 Aug 2011 09:24:42 GMT

View Forum Message <> Reply to Message

Dear Donghee,

Your results are very instructive. This means that the efficiencies of TPC
and STT in reconstructing tracks are actually similar, since the TPC asks
for a minimal track length. If this would correspond to something like

7 hits in the STT the resulting efficiencies would be the same.

Let's see what Felix answers.

One more thing: Could you please simply insert your plot 3 into the set of
slides you have posted previously and attach it here in the forum. | will then
add these slides to our wiki page.

Thank you very much for the work you did.

Cheers,

Lars
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